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He is _____ than his sister.

Answer: ___________________

She is ______ than her brother.

Answer: ___________________

My dad is ______ than my mom.

Answer: ___________________

My mom is ______ than my dad.

Answer: ___________________

Linda is ______ than Alice.

Answer: ___________________

John is _______ than Peter.

Answer: ___________________

This house is ________ than that house.

Answer: ___________________

Her cat is _______ than his dog.

Answer: ___________________

These shoes are _______ than those shoes.

Answer: ___________________

The red car is _______ than the blue car.

Answer: ___________________



Answers

He is _____ than his sister.

Answer: older

She is ______ than her brother.

Answer: younger

My dad is ______ than my mom.

Answer: taller

My mom is ______ than my dad.

Answer: shorter

Linda is ______ than Alice.

Answer: younger

John is _______ than Peter.

Answer: older

This house is ________ than that house.

Answer: bigger

Her cat is _______ than his dog.

Answer: smaller

These shoes are _______ than those shoes.

Answer: bigger

The red car is _______ than the blue car.

Answer: smaller


